· The central problem that is present in the transportation (ship, trains, trucks and planes) are:
- Problem 1: The Company promises its customers to deliver the packages at a faster speed. This is a major problem with the transportation company because there are lots of hurdles that UPS need to overcome for speed delivery of the packages.
Solution- The solution to this problem if the drivers use DIAD (Delivery Information Acquisition Device) that helps the drivers to capture the barcodes posted on the package, signatures and then upload these all onto the company’s mainframe from any telephone.

· The logistics problem that UPS has is there lack of updated technology used in their operations and logistic centers, which results in additional labor needed to process goods and shipments on time.
Explanation:
The reason why this problem exists is that UPS did not keep up with updating the technology and operating systems during the past 20 years, which is now resulting in the firm using outdated technology. In order to correct this issue the firm needs to make investments in their IT and technology, which over time can result in cost savings as less labor and employees will be required.

Source
https://www.wsj.com/articles/upss-20-billion-problem-operations-stuck-in-the-20th-century-1529072397


· 10 Most Popular Business Analysis Techniques:
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· Company Description- Tell us about the company
[bookmark: _GoBack]United Parcel Service is a United States-based company which deals with parcel delivery around the world. It also provides supply chain management services where it provides logistics services to various organizations around the globe. The company started in early 1913, where it was called Marchant parcel delivery. In 1919, the company changed its name to United Parcel Service after it started delivering its services worldwide.      
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